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SECTION - A 

(Long Answer Questions) 

Answer any two questions from this section. 	2x20=40 

1. Discuss the significance of the public sector in the 

national income accounts of India. 

2. Why do we need to update the SNA system of 

accounts ? What are the various suggestions put 

forward to update the SNA system ? 

3. Distinguish between the human development and 

human resources approaches to the social sector. 

Discuss how the social sector is treated in the 

Indian national income accounts ? 

4. What are flow - of - funds accounts ? How are 

they prepared in India ? 
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SECTION - B 

(Medium - Length Answer Questions) 

Answer any three questions from this section. 	3x10=30 

5. Discuss the estimation of national income using 

the expenditure approach. 

6. How is gross value added estimated in the 

construction sector in India ? 

7. Explain the concept of Physical Quality of Life 

Index (PQLI). Evaluate the effectiveness of this 

index as a measure of development. 

8. What is environmental accounting ? What are 

the various approaches to environmental 

accounting ? 

9. How will you estimate the contribution of services 

to GDP in India ? Explain. 
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12. State whether the following are true or false : 

(a) Saving is always equal to investment. 	5x2=10  

(b) Balance sheet is a statement showing profits 

and losses of an organisation. 

(c) In India, the Central Statistical Organisation 

(CSO) prepares the national income 

accounts. 

(d) Fisheries are part of the secondary sector. 

(e) The first non - official estimate of national 

income in India was prepared by Dadabhai 

Naoroji. 

SECTION - C 

(Short Answer Questions) 

Answer all questions from this section as directed. 3x10=30 

10. Define any five of the following : 	 5x2=10 

(a) Factor Income 

(b) Per Capita Income 

(c) Consumption 

(d) Household Sector 

(e) Open Economy 

(f) Depreciation 

(g) National Capital 

11. Distinguish between any two of the following : 2x5=10 

(a) Human Poverty Index and Capability 

Poverty Measure (CPM). 

(b) Net capital transfer from abroad and net 

borrowing from abroad. 

(c) Stocks and flows. 

(d) Private income and personal income. 
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